FAEMLEFESKEERNZEE RREF) [8AS] HFE [XHREHEOHEFIR]  <Htis>

/hE - AAFEEE [(FAEBLSEARERNXES HRES) )
S5 %

| T . MEABEE] . [ALE] ofhd, EELBRL TS,

B[P BE] | [EASEE] X [KEE] 0F6E [KEE] B —beEAL T,

| 20191320208 D8F D1H YT Y ORAEDF LS CHBRRVRIDEERER ) BLSTIH?

2019 X [£2020F D8 A D55 + 1B% Y DFELEE O
H + 31 = M

XNBSE LT Y B
Y2020E8R2HURICEEZ MO -AIIROFERICLY ., 1HYEEVOTEEOZEHLTL TN,

B B 1TESYOREBHASZ
*M2£8A/20~ (2020508 ADT LHEDOAER)
#M248A318 | + (MEEH>$MN248A3 1 HETOEAR
#M2HE0A18~ | (MERASSM3EBA 1 3 HOXEBOEED
#M3EBA138 | + (MEEHSSM3ESA1 IHETOEAR
FELEaEER E=E= 1B 7Y oxts O
=i = H = M

MONELTE Y B

[1B®H7YDELS D] A
@75000F U T Di54E 1 BY7Y gL [A] 30,0008 (E%E)[A] M
@75,001 L £, 250,000 T Digas

1A% ) OFLESIC04% 2T TIAY: Y OXIESHE [B] 2 &M
1YY nE s @ 1YY oXiESE =

Hx0. 4= M = (B] M
FAFRBEY ) £

@250,001HU Lt niFHE
2021FE MR DIRH Y ORBENFTESZHEL TLEE L,

2021 D8R DT LS 1B Y ofkts @ 1H% 7Y oFdE -
M +31-= B = =
XUNBEUTIY B X@=0-®
@ 5EH 250,000 ToiEse 1 B4 7Y oxiES% [C)] 100,000 (E%E)
[C] =

&5 58/250,001LL_E500,000 U T DBE

FEOIC04% M TIA Y Y DZIESEE EH

O] 1YY OXESE =

[ x0. 4= M = [D] M

KTFARmIETIY £

@5 %EH500,001AU Enigs-- 1 BHE7-Y) oxiE£% [E] 200,000 (E%)
(E] M

18&7-Y o
1R &72Y ORDE

FHEEEEH HABZK UHROXIREE
[A] ~ [E] ox%&&4E (138, 12H. 11AXIx10R)

Rx H = !




